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R X 1 7,473,474
JiES 2 1 112, 160
MR T 2 1 112,160 |3E% 80 m2
B2 AT pIE B
a7k L = 1 1,709, 648
EELT = 1 514,621 |KIED 1 X
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T
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b 1 =X
+wp CEHR - ERIRY LET) ;
e 1 =
B2 A couE
Fa K AE i L 2 1 1,195,027 |#a/KE 434 m
KERARY =F Lo EE (1FE) FFOR25 ;
HEEZY—h 171 m
K Vxfy ez (2f) 150mm X 50m ;
50A%7 % 5 {5 HIT
(an=IEE 5 &30
T43 16 2 (E10
IKFEAE 7 &30
JRIATIL A e 7 (£
90° f#TF 1 £
AR L = 1 5, 341, 652
EELT = 1 1,428,504 |FEHEY 1 =X
+4)
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HEL 1 2V
t+W 7 yvaw,

b 1 =X
+wp CEHR - ERIRY LET) ;

e 1 =
B2 A couE

TR I L 2 3,913, 148 |EHE 707 m

WAHEERY =F L 2 E#4% FEP 30mm ;

EARE 26 m
JEERTERE G36 ;

ERR 2 m
IGR Y = F LR =Ly — R r—T )L
00V (CV) 14mm2 3:0» ;

E 27 m
IGR Y = F LR =L — R r—7 )L
00V (CV) 8mm2 30> ;

ER 8 m
IGR Y = F LR =L — R r—7 )L
00V (CV) 5. 5mm2 3.0» ;

ER 8 m
GR Y = F LR =L — R r—T )L
00V (CV) 3. 5mm2 30> ;

ER 2 m
IGR Y = F L iR =Ly — R r—T )L
00V (CV) 2. Omm2 30> ;

E 154 m
IGR Y = F LR =L — R r—T )L
00V (CV) 14mm2 3:0» ;

R 401 m
IGR Y = F LR =Ly — R r—7 )L
00V (CV) 8mm2 30> ;

E 122 m

BERY = F L AR =L — R —T L

00V (CV) 5. 5mm2 3.0» ;
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B 69 m
BERY = F L R E =L — A —T L 6
00V (CV) 3. 5mm2 30> ;

B 22 m
BERY = F L R E =L — A —T L 6
00V (CV) 2. Omm2 30> ;

TER 14 m
6 0 0V E= LR IV 3.5mm2 ;

HRFE Y~} 446 m
K Vxfy ez (2f) 150mm X 50m ;

EIRA > 7 AFE 1 il
BANE SR (B = ' > MMF100V 1A 201)

FRHIER 7 it
DFELREHN |

ENE VAT 3 6 1l
= NERVRIT

B artr b 6 1l
Bk =y k(100V 154 20) ;

EIT oy FEAEL-1 2 1
ELCB50AF/20ATHAZY  ARNALES |

CERSp R | 2 1l
ELCB50AF/20ATHAZY  ARNALES |

B F BB AR 3 1
ELCB50AF/20ATHAZY  ARNALES |

At 7 & T
H1-6 600X 600X 600 ;

R B LA i T 2 310, 014
LR E T 2 204,574 | EHEERTEINT 1 =

TATTVMEHEERR FHEEE 40mm ;

SRR AL N 32 m2
T AT 7 Ntk t=dem

=Ty TR R 32 m2
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t=8mm ;
DO 1 m3
T A7 7V Nk
DO 0.3 m3
BT T8
ALY 1 m3
TAT7IVNE
By 0.3 m3
BT T8
TA7 7 M2 T = 1 105, 440 | T2 0% (BE L) 32 m2
BAI7yv47/ RC-40 {1 EVJE 150mm ;
g (REE) 32 m2
FAEBRIEET A2, (13) AHEE 40mm 1. 4mAu
(184 v S v JE50mmEd T)
EE/N =5 X 1 10, 060, 985
H SR Bk 1 2 1 8, 434, 985
ARHE LT =X 1 8,434,985 |FRx{k-> 5410 2,000 m2
C<T7cm ;
Brik 10 i
Tem=C<10cm ;
Brik 50 i
10em=C<20cm ;
Brik 40 i
20cm=C<30cm ;
Brik 200 i
30cm=C<60cm ;
Brik 30 i
60cm=C<90cm ;
Brik 20 i
90cm=C<120cm ;
Brik 10 i
120cm=C<150cm ;
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FEENRE it
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TEHEX Sy - THE - R B {7 % & # il pall R
Brik 5 N
150em=C<200cm ;
B 5 &
15em=C<30cm ;
S 10 EN
30cm=C<60cn ;
95E 5 ES
60cm=C<90cm ;
B 2 &
90cm=C<120cm ;
B 2 &
120em=C<150cm ;
TEXY 2,000 m2
N T Y S 2 1, 626, 000
FAMBHAHT = 1, 626,000 |F v 7 (AL 200 m3
BRIEE50mmEL T
TR HE Rl =X 1, 876, 100
BARBR T = 1, 876, 100
REARER - HAR T = 1,876, 100 |mEARER: 10 N
Tem=C<10cm ;
AR 10 N
10em=C<20cm ;
AR 20 N
20cm=C<30cm ;
AR 55 N
30cm=C<60cm ;
AR 20 N
60cm=C<90cm ;
AR 10 N
90cm=C<120cm ;
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FEARHEA =X 1 196, 600
JENBALEE T = 1 196, 600

DAL PR T X 1 196, 600 |IEfESE 1 =X

TmiEER

BT EE =X 1 19, 607, 159
B RER =X 1 1,973, 526
e TE: X 1 27, 526

e ig Bty =X 1 27,526 | il psy 1 =
Hom e (RFkL) =X 1 1, 946, 000
T =X 1 21, 580, 685
B FR =X 1 8, 403, 000
N i =X 1 29, 983, 685
— R A =X 1 5,906, 315
Tk =X 1 35, 890, 000
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